We have learned that neuns name persons, \ | / We have learned the six closses of
places, things, or idees. Nouns can functionf pronouns . A pronoun takes the
im the lollawing woys. r

direci object

indinect obiect

object of prapeinion
appasthe |
nawn of direct dddress R}

e —

A noun or pronaun hos been underlined in esoch activity below. On the line indicate whather the
underiined word funclions a3 o subject, predicets nominotive, direct object, indirect object,
abjeci of preposition, oppositive, or noun of direct address

Applying Wisdom Principles

{1} One of the changes resulting from Mr. Washington's
death alfected George's schooling.

{2} He would not be able to travel fo Englond, as
his brothers hod dane.

{3) Instend, he attended o one-room school, which
stoed In @ nearby feld,

{4) During those seven or aight years, Gearge
excelled in math,

(5] He loved to add, subtract, and measure.

{8] As awise boy, he developed his God.given talents.

(7] At home, George's mother gave him daoily
instruction in Seripiural principles,

[8) The character and wisdom goined from this
training are seen in his later [ife.

(9] George hod opplied the wisdom principle of
Proverbs 1:8,

(10) "My son . . . forsake not the low of thy mother.”

(11} His decision to obey this commandment brought
George Washington honar many times.

(12 Thomas Jeterson, onother famous man, said of him,

(13} "He wos indeed . . . owise . . . mon . .. "




Progominns and Properties of Proportion
A proportion is an equation siating that two ratios are equal. 1t is written in the form of | = | where b and
o are pot equal 1o zero. The followang dre some examples of proportioni:

-} i=3 =k
Each of the positions in the propomion [ = § s numbered. The fird tem is &, b is the second term, ¢ is the

third term, and o is the foarth torm.

firt teTm = third ierm
seccanad bim fourth berm

In any proporiion, the firsi and fourth torms are called the extremes, and the second and third terms are
called the meany. Proportions are alio written in the form 49 = 12227, In this case, the extremes appear on
the outside of the equation, and the means appear on the inside.

Compleie this. progl of Theorem B4, Remember: You may abbreviate the reasons if vou like. but do oot
include the postulsie or theorem numbers. [They are provided for reference only. )

Given: E =§.
Provex afd) = Mc),
. L Proaf
SEHlEmeRs Hvibieis I
L i = E, 1.
2. (i) = Sbdl). 3
3. 3% = old); S8 = cd) 1, Multiplication
i ald) = elb) 4, Substitution Propeny.
o ol | i SR b o ;r‘_‘j. whal ) s srlwER e R
[y
5 o ald) = bic). 5. Commuistive Propery.
iyl ® Mih

Note! In the proportion | = /. the extremes are 2 and 6, and the means are 3 and 4. The product of 2 and 6
ik 12, and the prodect of 3 and 4 is 12 This i one way 1o determing i w0 rathos form o true proportion.
I any three torms of & proportion are koown, the founh can be solved wiing Theorem B4,

Example:
Solve for x in this proporion. ;-i
1. Multiply ihe extremes. 4] = dx
2. Multiply the means. B(3) =24
3, Set the products equal to each other. dr=24

4, Solve for the unknown, x=b




(89) In the potassium nitrate compound, KNOy, the nitrate rodical, NO,;, hos o valence of
=1, so the pobassium, K, musi hove o volence of
(?0) The colcium in calcium nitrate, Ca{NOy);, must have a valence of __  and the

aluminum in aluminum nitrote, ANOS):, must hove o volence of

On each blonk. write the volence number of sach of these metal lans.
) copper(l) ‘ {%3) tin{IV)
(92) ecobalt(11T) (94} morcuny{Il)

Anolyre these formules by filling in the blonks with the number of atoms. the names of the
elements, ond the number ond nomes of the rodicals.

{H! AI‘HEB,}J = ﬂ'ﬂ’ﬂ"l{l] e —— e —

olomis)

atom(s) > radical{s)
. abomis)
(96) (MH,PO, = _____ otemfs)
I
S } radical{s)

atomnis)

:-;,_ radical(s)
— atoem(s) =

THINK! Write the chemical formulas for these compounds. Be sure to include encugh otoms of
each element or rodicol so thot the valences total zero,

[97) Mognesium nitrate =
(The valence of mognesium, Mg, is +2: the volence of the nitrote rodical, NOy, s —1.)

(98) Tin{IV) oxide =
(The symbal for tin is 5n; oxide, the lon of oxygen, hos o volence of —2.)

\#9) Silver nitrate =
(Silver., Ag, has a valence of +1; nitrate, MOy, hos a valence of —=1.)

(100) Lead{Il] sulfate = )
(The symbol for lead is Pb: the sullate rodical, SO, hos o volence of —2.)

THINK! Write the names of these lonic compounds.

{101) CaSO, =
(Ca is the symbol for calcium: 50, is the symbol for the sulfare rodical.)

(102} Cud = 3
{Copper may have a valence of +1 or +2; oxide, the ion of oxygen, has o valence of
=2. Don't forget to indicote which ion of copper is used in the compound.)

Score exercises T2-1032. F




i, The county cherk is seeretary to the commaskoners cour, reoonds
and keegn legnl documents, registen deeds and morrgages, and
generally supervises the clencal duties of the county.

1 The county tressurer, of county tax assessor and collecror,
wmmhrtiwm:nlﬂu1nmwﬂn
coumnty bl

3. The county suditar sudits the books of the weanmer and sl
other county officials (and sometinses city officials) who collect
fax MOREY.

4, The county altammey prosccutes cases befose the county court
wnel the county grarul jury.

%, The county sherdff i the chiel L officer of the coimiy. He
works with the district armomey and the county amomey and
often ruma the county [sil. A growp of deputies v him in
enforckig Mate and county law

6. The county camnet i usually @ doctor. He examines bodies of
those wha die vialently or enespecredly o determing cause of
death,

7. The county srveyor overees building snd msintenance of
conmiy roads and serveys lend boundaries. Todoy he s often
called the conmiy enjineer.

8 The county uaperintendent of schaols i the sdministraor of the
consnty public schools.

Because the county b o product of a rursl society, it i relatively loosely
controlled unit of government. It s both created by and & functionary of the
state government. I i the principsl means by which stae govermment
contscts individual chizens. Some county functions are those of the state, and
athers sre those of a distinctive governmenial unit.

One of the primary county luncrions, enforcement of state laws, b the
responaibilivy of the sheriff, the county sitormey, and vaTious COUREY STHTL,
The county government includes justice of the peace or precinct courts ansl
precinct constsbles. These courrs and officers usaally hansdle snall claims and

very minor disorders, and they ; =) [ camssh P [
pometimes  arraign darrested i
prisoners for the pelice of dherif

Dhssrict courm, both civil and
crimiral, wre wunlly locared in the
county courthouse, The dierict
uttcameey serves thess courm, which
are somewhat independent coirts
of the ware judiciary. The sherii
bringi accused perons o these
cousts and holds thelr prisonets in
the county jail. Local palice
officers may alio serve diatrict
ST

Counties wre  resporsible for
collecting sate taxes and handling
local  problems over propery
valuavion and failure 1o remie thess




The roof “equ” or “equi” comes from a Latin word meaning “even; just"

Add the root “equ” to these prefixes and suffixes. Note: [Irop a final “y"* before adding a suffix
beginning with a vowel

n + ol + ity =

@Min+_______ 4ol +ity=____ —

3) ——— + ole =

{4) + afion =

(5 +aolor s

() ——— + ity =

(7 + ity + able = —

(8) in + — + ity + oble =

e+ Hy =

(o)od + + ate =

Myin+od+ ______ + ote = /7 (Latin-oequus) \
o T el lr\ (N

Many words con be formed by combining the rool “equ” or “equi” with another rool, Write the
new words on the lines below.

ROOT ROOT LATIN-MEANING NEW WORD
(1 egqu + animity (onimus - “mind") = equanimity
(14) equi  + librium  (libro - “bolance”) -
(15) equi  + nox (rocterm - “night”) =
{18} oqui +  distance [distare - "to stand of™) _ ——
{17] equi +  wocal (wocore — "to call™) =
(18] equi +  lateral {lats - “sida"] =
(19 egui + valem [walers - “to be strong”] o
(20) equi  + poise {pensum - “weight”) =

(21) Whot does the root “equ” or “equi” mean?




